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(1) Figures on right shows marks.

(2) Simple calculator is allowed.

’

ny one

What is meant by ﬁrébable error ? Write its formul
use. | ' ;

Find the value of r if n o 10, Zx = 30,2y 2 and Sy_ =3."17 |

Find the correlation coefficient ffom 7
x | 0-10 | 10 2
y | & :
B ow 2
6 1
7 3 ~
e e
| | OR
What is meant by associétion of attributes _v?fGivg one ex_émplc: of each,
positive and negative association. -
- The following information is obtained for studying.the association between
- permanent job and stress in life. Out of total 500 people 300 have
permanent job and of them 100 people are stressed. Out of total number of
people, 250 people are having stress in their life..Find the coefficient of
association between permanent job and having stress. - ”
Find rank correlation coefficient from the following data : v
x |25 |60 |30 60 |45 |50 |
y |40 |90 |65 |90 |65 |90 -'
5 P.T.O.



(b) Answer the following questions (any four) 4
(i) Betweenxandy,r=0.67 then between (3x + 2) and 5y -=7), 1= ——

(a) 0.33 (b)y -0.33
(c) 0.67 ‘ (d) -0.67
(ii) For each pair of the observations in the method of rank correlation R =
then r= , . - .
@ -1 b 1 | | \g
) 0 | (d) 0.5

(iii) Find the value of (AB) if the attributes A and‘ areqindepen

N =500, (A) =50, (B) = 150. :
(iv) If all the points are on one slating line in a scattepf@dia & value of
correlation coefficient is : :

(a) Only 1 ‘ - (b) A W
() =1 . ( :
(v) In usual notations, for a 2 x 2dcontingeney table (aB) = 70 and (o) = 50.
: nt prinot. 22 '

Chepk whether this data i
(vi). Give one illustration of

e correlation.

2. @ (1) What is meant fficient ? Write any five properties of it. .7

2) F‘ the sression lines from the following data : 7
£ 80 | 150
‘ 40 |44
OR

e atio.ns‘ of regression lines are 3x + 2y-60=0and 6x+y-75= 0.
Find the means of x and y, and the correlation coefficient. Find the S.D of y

if the S.D. of x is 2. - ' | . 7
Estimate x for y = 50 and estimate y for x=90. : 7
- 1 ox |y '
Mean - 100 | 40
S.D. 5 2
Correlation coefficient = 0.8

(b) Calculate any two from the following : | _ 4

(i) Find the regression coefficient if the regression line of x on y is
Ix-5y+12= 0 ‘ | '

(i) The regression line of y on x line'is 2x + 3y —41 = 0 and x = 10. Find the
value of y.

(iii) " When both the regression lines are coincide then r = and when the

lines are perpendicular to each other thenr =

NE-138 6



3. (a)

(b)

NE-138

(1)
2)

(1)

2)

What is meant by Business Forecasting ? State its uses.

Obtain second degree parabolic trend from the followmg data and forecast
for the year 1996. -

Year 1991 | 1992 | 1993 | 1994 | 1995
Sales (in lakh %) 12 9 10 15 24
OR

By taking o0 = 0.4 and initial forecasting as 100 find forecastsgfor theé
following years.

Year 2001 | 2002 | 2003 | 2004 | 2005
Production 120 132 | 145 | 161 186

Fit an equation of linear trend to the following data and fbrecast for the year
2019.

Year 2008 | 2010 | 2012 | 2014 2016 2018
Profit (crores ¥) | 120 | 132 | 144 41567} ,168 | 180

Answer any three of the followmg

@

(i1)

(iii)

(iv).

gy

@

- The equation of a linear gfénd y'= 10 # 3x, where y = productlon and
= (Year 2015

1 ) Find the forecast of the production of year 2020.

In usual notat1ons S =655 S = 112 and S,= 120, find the value of AS

For fitting of a lineangfend of five years data, in usual notatlons >x =0 and
Yy = 70 then find the value of the constant term ‘a’ of the linear trend.

State the main limitation of graphical method of business forecasting.

Explain crude death rate and standardized death rafe. The total population
of a city is 22 lakhs and the ratio of males and females is 6:5. Of total -

* females 60% of them are in child bearing age group: Find the crude birth

rate if the general fertility rate of the city is 30.
Which city is healthier from the following :

| City A : City B

Age Population | Deaths | Population | Deaths
0-5 6000 300 7000 - | 315
5-15| 30000 480 40000 | 720
15-45| 44000 440 35000 | 455
45-60| 16000 | 352 12000 | 240
>60| - 4000 100 | 6000 90

OR |
7 - | - P.T.O.



(i)

(1) Find CBR, GFR, SFR and TFR from the following data :
[ Age [ 15-19]20-24 | 2529 | 30-34 | 35-39 | 40-44 45-49 |
No.  of | 32000 | 30000 | 28000 | 26000 | 24000 | 22000 | 18000

females . .
No. of live | 960 | . 3600 | 4340 | 2600 1800 550 90
births - .
_ (Total Population =7 lakhs)
(2) Find CDR and SDR from the following data : A ‘
| City A City B
Age Population | Death | Population Death
- (in thonsand) | Rate | (in thous’an(, ~ Rate ‘
0-5| 7| 40 A 1
5-25|" 40 18 ' '
| 25-50 . 20 13 . 18
>50. 5 4 50 |

(i) The fertility rates. of ¢ St ups in fertlhty period for women ofa
’ d 5. Find the general fertility rate.

0 thousand and in an year 25 people were

e birth rate of a c1ty is a]ways i its general fertiiity rate.

jlessthan‘ AL (D) more than A
equal ' - (d) can’tsaidany specific
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